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GROUP -C

Answer all Five Questions.

9l uig g3 & SN < |

8x5=40

7. Draw circuit diagram of Q-meter and explain its

working principle.

Q-flex & uRvuer IR\ &1 Rad 3R sa@
& fugid & AT o |

OR(37214T)

Draw constructional diagram of L.D.V.T. and

explain its operation.

L.D.VT. ® G¥aTcHd IR &l Rga iR
s & fafer @ e # |

8. Write the advantages of electronic voltmeter over
VTVM.

VIVM &I gad1 d sadgifa diecHier &
il &1 ford |
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Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & wift ufg gl & SR <, IS U & 99 § b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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OR (3121a1)
Write applications of photo voltaic cell.

BlIel dicels® dd @ ATUATN &I fored |

What is a microphone ? Write its different types.

4
ASHIBIT RT3 ? g9 A= yoRI &I
ford |
OR (3121a1)
Explain the following terms-
(1) Selectivity
(i1) Noise figure
frr=fafaa sl &1 aarer s —
() deadidl
(i) =13l fIR
Describe the measurement of Q-factor using a
Q-meter.
4

Q- HIeX gRT Q-hdeX © AU P AT X |
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(i)

(iif)

3 21502

Which of the following is correct statement

for measurement of resistance by resistance

variation method.

(a) Resonance is obtained by varying the
value of capacitance.

(b) Resonance is obtained by varying the
value of inductance

(c) Resonance is obtained by varying the
value of resistance

(d) None of these

f=faRaa # 9 &9 a1 U gfo”ig

gRad+ fafer g1 ufe”ig @ w9= @

forg w2Y 2 |

(31) FeaRA & A9 Pl 95 9 IS
@ Scu~ fbar Sirar 2 1

@) 9RF & 91 &I 95 9 AAIS
P Sca~ fbar wirar 21

(W) yRRIg @& 99 & 951 9 AR
®I S~ fHar Sar 2 |

() 3 9 BIg 78

Which of the following is used for the
measurement of capacitance at high frequency.
(a) Bridge T- network
(b) Bridge m- network
(c) Both (a) and (b)
(d) None of these

P.T.O



O'L'd
| BR) (& [l @ Il L3) AbSbll

"03nes urens 10jonpPuOdIWAS JO SITLIUBAPE LI

¢ & P2 kb Dadin
LhE b SVA ¢ @ Ikb krl|la®|d RErR|

- Svaeut
AI18SSQ09U 1 ST AYA\ (,SUIUOIIPUOD [BUSIS ST JBYA\

(lprR)IO

¢ 8 RERR IRP hile
B 2201y 2Lh DY MD b ha ¢ dRRoRID

14
‘¢, eonpsuer) se

pasn Jajowonudjod a1m uou Aq uBdw NOA Op JeYA\

T

| 2 ADS & b2k blh [th

'suonsan) ALY [[& Jomsuy

0C=5SXy

441049

(41} ¥4 €1 670SLO

953y} Jo auoN (p)

(q) pue (&) yrog (9)

1aynodr ylduy (q)

opoLn pasuereq ()

INALA Jo 2d£) st Suimo[oy ay3 Jo Yoryay

Bk e B pkd (2)
ZHINS B ZHMO00S (k)
ZHINOS B ZHMO0S (b)
ZHI00S B ZHMO0S (le)

12 P8 kip @ " e RIble @

‘2 Ibls 1kp) DbRA kb 2210 Rig) ERID

253y} Jo auoN (p)
ZHINS 01 ZH00S (9)
ZHINOS 01 ZH0S (9)

ZH00S 01 ZHY0S (B)
............... [HO-IJ qugl ,{ougnbs,g

sey Jojouw-0) Ul Pasn SI Yorym JI0Je[[19sQ

Bk Ble R pki (2)

L2 (B) 2ie (1) (B)

@b2k -1 InBj (b)

@bkl InB) ()

PEINIY

k@) f hik @ kYIBR dh Liblle
Baf kb 1GBg] B b DERYR|EL)

670SLO 14

(4)

(A1)

(ar)

(1)

(411 14



21502

(xix)

(xx)
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fr=ifaRaa & & &9 A/D ®adR &1
JHR 8—

(31) R-2R ofsX

(@) s

(4) IR HURCTY

(2) Swida g+

Which of the following is passive transducer.
(a) Strain gauge

(b) Thermister

(c) Both (a) and (b)

(d) None of these

frfafaa & @ <9 IRW grasgmR 2
(@) &€ 19

(@) afifex

(&) (@) 3 (3) <t

(?) 379 94 @13 =

0T5029

V)

(vi)

(vi)

(vii)
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f=faRaa # 4 &9 VIVM &1 U
IHR 8—

(31) "gfera grars

(d) TRIBRR YdewrrR

(&) (1) 8fik (@) <=

() 39 9 BIg 78

Which of the following is part of differential
voltmeter.

(a) Null detector

(b) Potentiometer

(c) Both (a) and (b)

(d) None of these

f=faRaa ¥ 9 a9 fSRRraa
diecHler &1 3T 38—

(e1) Frgwma Sqas

(=) fawqwrdY

(@) @) 2R @) <=

(?) 37 9 »I$ =

Which of the following statement is correct-

(a) Analsy instruments are cheaper than
digital instrument.

(b) Output of digital instrument can not be
stored in memory unit.

(c) Reading of analog instrument is more
accurate than that of digital instrument

(d) None of these
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(a) (@) 3 (9) <r=r
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Which of the following transducer is used

to convert sound energy into electrical energy.
(a) Speaker

(b) Microphone

(¢) Thirmistor

(d) Photodiode

frafeRaa 4 4 f&a giaSgER &1 9AIT
el Solf &l fagd ol A dga A
BIdTl B |

(a1) wlray

(€) ATgHIBIA

(|) erfifzexr

(]) wicrsirs

Which of the following is inverse transducer.
(a) Capacitive transducer

(b) LVD.T.

(c) Piezo electric crystal

(d) None of these
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T AT SRS BT YT argfdber.. .
Bl @ |
(31) 20%
(9) 50%
(\|) 75%
(=) 90%

Spectrum analyser is used for the
measurement of .........

(a) Attenuation

(b) F.M. deviation

(c) Both (a) and (b)

(d) None of these

FEH TATATSOR BT AT o ®
q1gq ¥ fear wrar 2 |

(31) vequa

(@) EM. fage=

() @) 3k (@) <=t

() 39 9 31 7L

Non-electrical quality is generally converted
into an electrical form by ..............

(a) Transducer

(b) Transistor

(¢) Transformer

(d) None of these
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10.

OR(37214T)
Explain the working principle of series type peak
reading VTVM. ?

Aoft ergy i AfS$T VIVM. & srR-f—Figia
&I 9of-1 Y |?

Explain diode matrix circuit which is used for
conversion of BCD system to decimal read out.

8
sRs dferm uRuer &) @R &) aer

9T BCD Riew &1 SRwe R sse o
dqod ¥ fear wrar 2 |

OR (3121a1)

Explain the process of time measurement with the
help of block diagram.

We—3ARY B AS™dT 4 IHI H199 Y yfhar
B ATRT DB |

Draw block diagram of basic spectrum analyzer
and explain its working principle. 8

P.T.O
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OR(3721d)
Explain the working principle of series type peak
reading VTVM. ?

Aoft ergy i AfS$T VIVM. & srR-f—Rigia
&I 9of-1 Y |?

Explain diode matrix circuit which is used for
conversion of BCD system to decimal read out.

8
srs dferm uRuer &) @R &) aer

9T BCD fRiew &1 SRwe Rs sse o
dooq ¥ fear wrar 2

OR (3121an)

Explain the process of time measurement with the
help of block diagram.

WYS—IIRY B ASAdT 4 I9I H199 b yfhar
B ATRT B |

. Draw block diagram of basic spectrum analyzer

and explain its working principle. 8

P.T.O
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